Date : 21 September 2020

Shift : I (Morning)
Timing : 8:00 AM to 10:30 AM

Paper : II (Computer Science 207)




1. Tr=faRaa # 9 ey ueEe S WY ?
(%) (@) T
(71) T (&) @va
Which is the oldest dynasty among the followings?
(A) Maurya (B) Gupt
(C) Kushana (D) Kanva
2. 30E wen' UX WY TR 916l AR SR o -
(@) o ToRell (@) TS Terden
(1) o€ T (=) faferm dfes
The Governor Generl who banned The ‘Doctrine of Lapse’ was -
(A) Lord Wellesley (B) Lord Dalhousie
(C) Lord Hardinge (D) Lord Bentinck
3. =9 9 fore Herenn i @1 UoiRiE [ AT ST g7
(@) eemTs AR (@) waTe T e
(31) ‘AATET SeTgd - (%1) =Tet e et
Who among the following is considered a political “Guru” of Mahatma Gandhi ?

(A) Dada Bhai Naoroji (B) Gopal Krishna Gokhle

(¢) LalaLajpatRai (D) Bal Gangadhar Tilak
4. Py, Sedl, SN Td Hold HEayUl T §

() SERTEVS B (@) SRR D

() SIREE B (&) BeiraTTe &

Kathak, Nautanki, Jhora and Kajri are the important dances of :-

(A) Uttarakhand  (B) Uttar Pradesh

(C) yharkhand (D) Chhattisgarh
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5.

gl A g o] Tl o~
(®) AR siRfcaddm (@) 99 o viw @ 9=
(M R sda  (u) =iy o 9=

The First China War was fought between :-

(A) China and Britain (B) China and France

(C) China and Egypt (D} Chinaand Greek
aﬁqﬁdﬂﬂﬁqmmﬁaﬁawﬁwaﬁ%ﬁﬁmﬁ%‘?

(&) T (@) wem

(1) Bt (=) dradt

Which five Year plan was suspended one year before its scheduled time ?

(A} Third (B) First

(c) sixth (D} Fifth
Fré Y srlimen wrmrae S & o ¥ -

(@) woge Rimg @ (@) 7w«

(1) wiRTs Tgoass fraer  (9) Sde ®1 T oY

Soil acidity is generally corrected by :-

(A) Proper Irrigation (B) Liming

(c) Adding sodium hydrexide (D) Application of fertilizers

TS iferebiali o @ret Y 7T +-
(®) =7 AfEz g7 (@) s e g™
(1) @i B g™ (&) = ST BRI
Logarithm tables were invented by:-
{A) John Napier (B) John Doe
(C) Jhon Harrison {D) John Douglas

Govind GK 1



9. feu g vreei 4 @ 9% vTe wifdy Wil ‘PERMANENT ¥ WgaRt qull &1 SN &R 5T

STl g S T -
(%) TEAR (@) RANE
(3’1} NEAR (&) NEST

Pick out the word from the given word that can not be formed, using the letters

applied in “PERMANENT”.
(A) TEAR (B) RANE
(C) NEAR (D) NEST
10. UTE SIS® P id BN H @ & 3N, I ¢4 e & A4 H €| TNel LYl B
91T 1 T, TR D Y | NG D G DA § 7
(@) v (@) e
(1) g (&) s

There are five boys standing in a circular position. Ashok is in the middle of
Ramesh and Suresh. Naresh is to the left of Mahesh. Ramesh is to the left of
Naresh. Who is to the left of Ashok?

(A) Ramesh (B) Naresh

(C) Suresh (D) Mahesh
1. T fer mogeE A, € v e A < A B wAhT PN -
2, 5,11, 47, 95, .....7

(®) 105 (@) 18

(71) 191 (") 201
In the following question select the missing number from the given series :-

2,5, 1, 47, 95, .....7
(a) 105 (B) 181

(c) 191 (D) 201

Govind GK 1



12. i feg e fwedt 4 W Wt e @) 9| oY -
2004:1999: : 9If-ER : ?
() W (@) gerar
(1) e (&) o 9 B 78

Find the related word from the given options :-
2004 :1999: : SATURDAY: ?

(A) Monday (B} Wednesday

(C) Friday (D) None of These
13. oy T fawent # 9§ gw v sa B -

1, 3, 7, 15, 31, ?, 127

(?) 62 (@) 63

(M 61 (= 7

Find the missing number from the given options :-

1, 3, 7, 15, 31, 2, 127
(A) 62 (B) 63
(c) 61 (D) 71

14. af¢ QUESTION H @ie wiwl # UQSEITNO foran wiram ¥ = <& wiar 4
ANSWER @I forsm Srge .

(®) NAWSER (@) NASWRE

(31) NSWARE (4) NAWSRE

In a certain code ‘QUESTION’ is written as ‘UQSEITNO’ in that very code
‘ANSWER’ will be written as :-

(A} NAWSER (B) NASWRE

(C) NSWARE - (D) NAWSRE

Govind GK 1
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15. Tl foamera @ a5@ &R wefal @1 Ut 8: 3 1 aFR wIsfpal & e 210
& o) faener & g e ¥ -
(®) 770 (=) 740
() 870 (") 710

The Raio of boys and girls in a School is 8 : 3. If the number of girls is 210, then

total strength of the school is :-
(a) 770 (B) 740
(c) 870 (D) 710

6. A, B 3R C TP &W P HRI: 24, 6 AR 12 9 § wara o2 ¥, A 91 v
WY s 99 FM B e =l A e o) ?

(w) £ forr (@) ~fem
() 32 (|m) fm

A, B and C finish a piece of work in 24,6, and 12 days respectively. How many

days will these three together take to finish it?
(a) - fo (B) = R
(c) 32 (D) 4 =
17. = foU T1Q veq # &) 8 sEen A I G B O Py -
0.939 +9.39+0.001 =7
(®) 0.1 (@) 10
(1) 100 (&) 10000

In the following question, select the missing number from the given series :-

0.939+9.39+0.001=?

(A) 04 (B) 10
(c) 100 (D) 10000
Govind GK 1



18. T D U BB MY iR A ¥ | Afy S SRt B et IR B e 100 ¥ wen
&1 % Rl & 5o W 38 31 <t o1 Tt iR et A e B s ¥ -
(@) 2:1 (@) 5:3
(71) 6:13 (&) 13:6
Mohan has some Cows and Sheep. If total number of feet of both the animals is
100 and total number of heads is 38, then the ratio of total number of Cows and
Sheep is :-
(A) 2:1 (B) 5:3
(c) 6:13 (D) 13:6

19. 1710 ST B ‘A’ , ‘B’ 3R ‘¢ & 9= 59 UBR §ier T 7 A’ 1 4 IO ‘B’ &1 6
T[T 3R “C’ BT 9 UM ARTER ¥ &) ‘A’ 3R ‘¢ D wul BT SR w Y P
(®) 540 w0 (@) 360 w0
() 450 w0 (&) 480 w0
A sum of Rupees 1710 is divided in ‘A’ , ‘B’ and ‘C’ such that 4 times of ‘A’, 6 times
of ‘B’ and 9 times of ‘C’ are equal. What is the difference of rupees between ‘A’
and ‘C"?
(A) Rs.540 (B) Rs.360
(C) Rs.450 (D) Rs.480

20. TP 99 45 fhoHio ufy wer o siraa Ry A g8 31 3 92 20 e A 71 B N
S 0 1 50fB070 iy ser o IRy A 77 B § g Roaen waw o 7
(@) 3 10 fime (@) 2 e 50f¥e
(1) s =< 20 fiFe (°) 3=
A bus covers a certain distance in 3 hours 20 minutes at an average speed of 45
k.m. per hour. How much time will it take to cover the same distance at a speed
of 50 k.m. per hour?

Govind GK |



(A) 3 hours 10 minutes (B) 2 hours 50 minutes
(C) 3houus20 minutes (D) 3 hours
21, SH | DI A 9’ g ?
(@) IR Aewe (W) D wewe
(71) o wewe  (w) wWifedd wewe
Which of these is ‘BLUE VITRIOL’?

(A) Copper Sulfate (B) Calcium Sulfate

(C) Iron Sulfate (D) Sodium sulfate
22. TG P fesar fohas forar ?

(@) efafe—=1 = (@) wArT A
(71) Aeom A (a) W=

Who invented X-RAYS ?

(A) Hopkins (B) Marceni
(C) Roentgen (D) Morse
23, Torifdpa wioml # WISM &1 a9 3181 Wi BT A1 87
(@) wae (@) 7o
(1) wweht (|1) wame
Of the following foods which one in the best source of protein ?
(A) Butter (B) Milk
(€) Fish (D) Lettuce

24. ftrarn Preifiea 78 & fp sraRer & —
(@) i (@) agT
(71) <A (=) "ema

Govind GK 1



Ludhiana is Situated on the bank of river :-

(A) Gomti (B} Yamuna

(C) satluj (D) Godawari

25. 379 W DI e L g BIRTE ¥ ?

(@) =R (@) =

() e (|) f&a

Which of these is the largest Human Cell ?
(A) Lever (B) Skin

(C) Spleen (D) Ovum

26. w4 %1 BIF A1 YT 29 B g2l B sl B MereR B9 B Rre Rrear ¥ 2

217.

(@) argHee™ T (@) T

() - (%) s
Which property of liquid is responsible for the spherical shape of liquid drops?
(A) Atmospheric pressure (B} Viscosity
(C) Surface-tension (D) Light-weight
(@) weg yader ¥ (@) wErRrg
(1) afrerrg 9 (a) ony wew ¥
‘KHAJURAHO' is located in :-
(A) Madhya Pradesh (B} Maharashtra
(C) Tamilnadu (D) Andhra Pradesh

28. BT O frw Qe @ el § ?

() Heara | () & |
() Jefrem @ (u1) fpe 9

Govind GK |



Which game "THEMANT TROPHY' is associated with ?

(A) Football (B) Hoékey
(C) Badminton (D) Cricket
29. 9Rd 3iR A B G ¥Er B T R E?
(@) Ysfoers v (@) regem ==
(1) sT=€ ¥ (a1) Hrepdvee e
What is the name of border line between INDIA and CHINA ?
(A) Radcliff (B} Nathula Pass
(c) Durand (D) Mcmahon

30. R Bl T 971 91 § -

(®) @S w5 (@) UER TR
() fe=d (&) € gs
The Highest Dam of INDIA is :-
(A) BhakhraNangal (B) Sardar- Sarovar
(C) Tehri (D) Hirakud
31, = 8 @ e ue ot gemE ?
(®) AGDJGM (ia') BCEFHI
(;1) ONRSUT (a1} LPOSRV

Identify the odd term in the followings ?

(A) AGDIGM (B) BCEFHI

(C) ONRSUT (D) LPOSRV

32. T wEl ¥ o a9s AR dsfral €, T @ wve ‘A ¥ g RrenfiEt # 3 wsfal
T o9 for @ve B 4 11 faaiEl # 7 aso ¥ wvs ‘A’ 3R B ¥ asfehdi @
U Y ?
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(@) 33 :34 (@) 32 : 34

(1) 23 :32 (&) 33 :32

There are some boys and girls in a class. There are 3 girls out of 8 students in

section ‘A’ of that class whereas 7 boys out of 11 students in section ‘B’ . What is

the ratio of girls in section?

(A) 33 :34 (B) 32 :34
(c) 23 :32 (p) 33 :32
33. fmifea smafcr ¥ fsam Pryw ¥ ?
(®) 13 (@) 14
() 15 (|) 16
How many Triangles are there in the following picture ?
() 13 (B) 14
(c) 15 (D) 16
34. Rt Tt fawedi % 9§ fvw Rees g -
(&) et (@) MiferaR
(1) w@TE () tra—fagm
Choose the odd one from the given option :-
Govind GK |



35.

36.

37.

(A) Geography (B) Physics

(C) Chemistry (D) Biology

ST 37U BR W =& U el ¥ R TR B 30N 5 Frelrfer Toe &, @9
T& WY B TG Fdl ¥ SR 10RpeArrer e ¥ g: 78 S o o e ¥
AR 5 Fretiiey & g0 T @< 1 of W T8 aftem B o qews 10 Rreriey
ST 31 379 9% 9 WX ¥ b feem ¥

(®) Sax feem (@) af¥em—afer feen §

(1) SoR—ul¥zm feen s (9) <l feen o

Aditya Starts walking from his house and goes 5 kilometer then he turns
towards west and goes 10 kilometer. Again he turns to the north and completes
5 Kilometer of distance. At last he turns to the west and goes 10 km. Now in

which direction he is from his house?

(A) Innorth direction (B) In south-west direction

(C) Innorth-west direction (D} In south direction

M 3R N 781 1 A 3B WS 1 M B 37 A o) 9877 ¥ N @1 B W q47 Way 47
(®) = (@) &
(71) sy (a) =t

M and N are sisters. A and B are brothers. The daughter of M is the sister of A.

what relation of N with Bis ?

{(A) Grand Mother (B) Sister

(C) Aunt (D) Mother
af¥ DAM = 18 RAM =32 I ‘SCAM'= ?
(®) 36 (@) 24
(71) 34 (") 26

IfDAM =18 RAM=32 Then ‘SCAM'=?

Govind GK 1
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(A) 36 (B) 24

(c) 34 (D) 26
38, +rd fau wu foweul # @ Wt ey o = B -
TEF UT L TUUT 7
(@) =iy (@) ===
(1) gt (&) T
Find the related word from the Given alternatives ?
Venus : Planet : : Satellite : ?
(A) Saturn (B) Moon
{C) Earth (D) Star
39. 9 TP & Pl 119 F 9T &= o & A 9 19 g B afe S wen @ 17
| W f&an T A ey g9 -
(?d) 19 (w=) 10
(m) 7 (7). 2
When a number is divided by 119 the remainder is 19. If that very number is
divided by 17. The remainder will be :-
(A) 19 (B) 10
(c) 7 (D) 2
40. af fly < 1 - AT 72 % A T < B 15% e g ?
(®) 43.40 (@) 43.20
(31) 7.20 (&) 4420
If z of A number is 72 then what will be the 15% of that number?
(A) 43.40 (B) 43.20
(c) 720 (D) 4420
Govind GK |
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41.

42,

43.

By what number should 2 % be multiplied to get 1-?; ?

(a) 12 (B)

= ]G

(c) 12 ()

<1 W] Bl HERTH FHITEAE 11 A1 ST T THGTE 770 0 ¥ AfY T
W TP de 272 o W gud e ¥ 2
(@) 279 (@) 283
(1) 308 (m) 318

The Highest common factor of twe numbers is 11 and their lowest common

multiple is 7700. If one of these number is 272 . Then the other number is?

{a) 279 (B) 283

(c) 308 (D) 318
W(UNICEF-@WWGJWWWW)WWWR%
¥

(@) w=ar (¥dieoR de) 4 (@) <+ (e faes) #

(1) =g (¥geet wog 3 4 (&) 9\ (wiw )

The UNICEF (United nation international children’s emercency fund)

headquarters are sitnated in :-

(A) Geneva (Switzer land) (B) London (Great Britain)
(C) Newyork (USA) (D) Paris (France)

44, WA & TG Gedld SF ®1 HEF D 87

Govind GK |
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45.

46,

() arag yfean (@) i RiE Wy
(1) <ewr fRFm (') 34 3 o &

Who is the Captain of Indian National Football team ?

(A) Bhaichung Bhutia (B) Gurpreet Singh Sandhu

(C) Sandesh Jhingan (D) None of these
TR srvErey 5 wow § sraRerd § -

(@) sty uer A (@) W= v #

() affrerrg # (a) wice ¥

Bandipur Sanctury is located in the state of :-

(A) AndhraPradesh (B) Madhya Pradesh

(c) Tamilnadu (D) Karnataka
‘gerErsl’ 98 e ¥ W e o -

() g 9 & FaER B

(@) @rel @

(1) g@-r iR JsfiE Ul B sfrr 3R SRy @

(a) =@z @ fafo @

‘ENTOMOLOGY’ is the science that studies :-

(A) Behaviour of Human beings
(B) Insects
( C) The origin and history of technical and scientific terms

(D} Formation of rocks

47, feRF AR e i N o= E ?
(F) sreme @ (@) Sodoymsr
Govind GK i
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(1) srTeT STEEHE (@) =T @ Big

Who is the present Education Minister of Bihar :-

(A) Ashok Choudhary (B) P.K.Sahi

(C) PrakashJavadekar (D) None ot these

48. TSI HFRA® SR W Sraferd &
(®) =vsiTe | (@) TR (aferrg)
(1) 8 feeen (=) R
National Institute of mental health is located at;
(A) Chandigadh {B) Coonor (Tamil nadu)
(C) New Delhi (D) Banglore
49, faer 4 woa v fra A g ?
(®) 16 (@) 38
() 40 (%) =14 W g
How many Rajya-Sabha seats are there in Bihar?
(A) 16 (B) 38
(C) 40 : (D) None ot these
50. WR-THEe § W BIEl TS ¥ -
() gewfa (@) g
() g (=) o
The smallest planet in the Solar System is :-
(A) Jupiter (B) Mercury
(C) Venus (D) Saturn
Govind GK 1
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52

55

He<! o Rived 3 BIR ol @ R0 ara 99 YeT @ ¥ 9aifs 3 o3
o A & forg vovet wivmeYT ToTE @1 SUE B § —

(A) Personal Computers (B) Workstations

(C) Dumb Terminals (D) Mainframes

Multi user systems provided cost savings for smail business
because they use a single processing unit to link several

(A) Personal Computers (B) Workstations

(C) Dumb Terminals (D) Mainframes

HYeN B ALU g1t by Ty aifove= @ 99 Fofg an ¥ ?
(A) Grater than (B) Less than
(C) Egual to (D) All of the above

What are the three decisions making operations performed by the
ALU of a computer ?

(A) Grater than (B) Less than
(C) Equal to (D) All of the above

TS B AT Bl TG0 W TG I THho e ¥
(A) Editing (B) Writing
(C) Formatting (D) All of above

The word processing task associated with changing the
appearance of a document is

(A) Editing ' (B) Writing
(C) Formatting (D) All of above

e
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55

5%

SFOER 1 ST fhd o™ @ ewge § gan?
(A) First Generation (B) Second Generation
(C) Third Generation (D) Fourth Generation

Transistors used in which generation of Computer?

(A) First Generation (B) Second Generation
(C) Third Generation (D) Fourth Generation
TR 3R Tl =1 g Hee &vd &

(A) Know the memory capacity

(B) ldentify the base of a number system

(C) Direct the output to a printer

(D) Specify the problem completely and clearly

Algorithm and flow chart help us to

(A) Know the memory capacity

(B) Identify the base of a number system

(C) Direct the output to a printer

(D) Specify the problem completely and clearly

HRCY AT & IR | DIF 91 HIF 919 §
(A) It is under stood by a computer
(B) It is under stood by programme
(C) It is under stood by user

(D) Both (A) and (B)



57

58

Which statement is valid about computer program?
(A) It is under stood by a computer

(B) It is under stood by programme

(C) It is under stood by user

(D) Both (A) and (B)

TN SR RS B e oiow g ¥ R LY ok R —

(A) Temporary, permanent (B) Permanent, temporary
(C) Slow, fast (D) Al of above

The difference between memory and storage is that memory
S........ and storage is............

(A) Temporary, permanent (B) Permanent, temporary
(C) Slow, fast (D) All of the above

BT Fetag Hhad dvgex ENIAC s Tam ?
(A) Van-Neumann

(B) Josephy M. Jacquard

(C) J. Presper Eckert and John W Mauchly
(D) All of above

Who designed the first electronics computer — ENIAC?
(A) Van-Neumann

(B) Josephy M. Jacquard

(C) J. Presper Eckert and John W Mauchly

(D) All of above

/9
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60

% BIET W1 gREHT QUEHRU1 SHICTY el Sl & 92ifs s+ I% oniie & —
(A) Computer (B) Micro Processor

(C) Programmable (D) Sensor

A small or intelligent device is so called because it contains within
it a

(A) Computer (B) Micro Processor

(C) Programmable (D) Sensor

o HUTSeR U graetied W & Ol

(A) Translates Instruction of a high level language into machine
language

(B) Translates entire source program into machine language
program

(C) Itia notinvolved in program’s execution
(D) All of above

A compiler is a translating program which

(A) Translates Instruction of a high level language into machine
language

(B) Translates entire source program into machine language
program

(C) ltia notinvolved in program’s execution
(D} Al of the above



62

63

ST U9 T & ?
(A) Mechanical Input device (B) Optical input device
(C) Electronic input device (D) Optical output

What is a light pen ?
(A) Mechanical Input device (B) Optical input device
(C) Electronic input device (D) Optical output

fFrefeRea & oM A1 W SIwH SIURT $1 SYAN B dTeT TEdl
FFYCLE 7

(A) UNIVAC (B) ~ENIAC

(C) EDSAC (B)y None of above

Which of the following is the first computer to use Stored Program
Concept’

(A) UNIVAC (B ENIAC

(C) EDSAC (D) None of above
WraTse v B ok ¥ ~

(A) - 1024 bytes (B) 1024 kilobytes
(C) 1204 megabytes (D) 1024 word

The term gigabyte refers to
(A) 1024 bytes (B) 1024 kilobytes
(C) 1204 megabytes (D) 1024 word

21



64

6 S

£6

T3 T THE FRT 53¢ B b ad % @ ? B AT FFGER T BN
TR

(A) 1980 (B) 1985
(C) 1986 (D) 1987

In which year was UK’s premier computing event called? Which
computer was started?

(A) 1980 (B) 1985
(C) 1986 (D) 1987

T IR ST MY SUYFd BRIGH Bl AIS B § 3N a9 e varT o
%,mmﬁwmma%wmmﬂﬁsﬁf%lwgﬁmﬁ ........
@ ¥ S o -

(A) Accuracy (B) . Reliability
(C) Versatility (D) Automatic

Once you load the suitable program and provide required data,
computer does not need human intervention. This feature is know.;

(A) Accuracy (B) Reliability
(C) Versatility (D) Automatic
TS e ?

(A} The name of companies that made computers

(B) The name of product a company gives to identify its product
in market

(C) A name of class to indicate all similar products from different
companies

(D) Ali of above



L7

6%

What is a brand ?

(A) The name of companies that made computers

(B) The name of product a company gives to identify its product

in market

(C) A name of class to indicate all similar products from different

companies
(D) All of above

e o) T ¥ —
(A) Machine dependent (B)
(C) Error prone (D)

Machine language is -

(A)  Machine dependent (B)
(C) Error prone (D)
T 913¢ o =I7a9 iy § —

(A) One bit (B)
(C) Eight bits (D)

A byte consists of minimum -
(A} One bit (B)
(C) Eight bits (D)

YT Frages 9ga Reawda ¥, afew 3

(A) Fast (B)
(C) infallible (D)

2.3

Difficult to program

All of above

Difficult to program

All of above

Four bits

Sixteen bits

Four bits

Sixteen bits

781§ -

Powerful

Cheap
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39

Modern Computers are very reliable but they are not............

(A) Fast (B) Powerful
(C) Infallible (D) Cheap
arseye fasa & e € -

(A) Screen (B) Printer

(C) Speaker (D) All of these

Examples of output devices are

(A) Screen (B) Printer

(C) Speaker (D) All of these

‘C" A Main (Ve g7

(A) block name (B) function

(C) function name (D) data name

In ‘C’ Main ().....ccooee.. is 7

(A) block nhame (B) function

(C) function name (D) data name

frTad TF ... ]

(A) Feature that automatically adds or deletes space when you
paste text.

(B) Used to temporarily store items that have been cut or copied
(C) A reserved place in the memory of the computer

(D) Located below the status bar

ol



7?3

7Y

The clipboard is a

(A) Feature that automatically adds or deletes space when you
paste text.

(B) Used to temporarily store items that have been cut or copied
(C} A reserved place in the memory of the computer

(D) Located below the status bar

T T B WHl § —

(A) not have friend

(B) have one friend

(C) have any number of friend

(D) have one friend function and one friend class

A class may

(A) nof have friend

(B) have one friend

(C) have any number of friend

(D) have one friend function and one friend class

Ctrl + R tA. 17w g8 ¥ 9 ol & forw gua fva s & 2
(A)  Re-Open the last closed document

(B) Re-Print the last printed page

(C) Re-Apply the last paragraph formatting

(D) Right align the selected paragraph

25



>5

3

Ctrl + R is used in MS-Word for

(A) Re-Open the last closed document

(B) Re-Print the last printed page

(C) Re-Apply the last paragraph formatting
(D) Right align the selected paragraph

set foum @ fore Sug fm wmn g ?
(A) inline function (B) private class members
(C) non scalar type (D) cryptic code

‘Data hiding is used to create?

(A) inline function (B) private class members
(C) non scalar type (D) cryptic code

Freforiag o 9 o wie S S ¥ ?

(A) Bold (B} Italics

(C) Regular (D) Superscript

Which of the following is not a font style?
(A) .Bold (B) Iltalics
(C)  Regular (D) Superscript

FreferRaa # & 1 1 fovey siaves & 9oar ¥ ?
(A) .member (B) :: (scope resoiution)

(C)  %(modulus) (D) ?: (conditional)
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39

Which of the following operators may be overloaded?
(A) .member (B) : (scope resolution)
(C)  %(modulus) (D) 7?: (conditional)

MS Word 7 el 9 319 Save HWis &) ToRIG & THy § ?
(A) Home tab (B) Insert tab

(C) Review tab (D) None of above

From where you can access Save command in MS Word?
(A) Home tab (B) Inserttab
(C) Review tab (D) None of above

FrfeRaa 3§ @ o avl yori & e @ wale § ?
(A) char (B) wchar t

(C) onlya (D) botha&hb

Which of the following belongs to the set of character types?

(A) char (B) wchar_t

(C) onlya (D) botha&hb
R 3 o aidig ¥ ?

(A) int *ip; (B) string s, *sp =0;

(C) int*pi=0; (D) inti; double* dp = &i;

Which of the following is illegal?
(A} int *ip; (B) string s, *sp =0;
(C) int*pi=0; (D) inti; double* dp = &i;

2F
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Frafefaa 9 9 oF TATE. 98 ¥F & (Ruler) R Suo« 18 & ?
(A) Tab stop box (B) Left Indent
(C) Right Indent (D) Center Indent

Which of the following is not available in the Ruler of MS Word

screen?

(A) Tab stop box (B) Left Indent
(C) Right Indent (D) Center Indent
RerimanT Te oI & —

(A) const (B) preprocessor
(C) literals (D) none of above

The constants are also called as
(A) const (B) preprocessor

(C) literals (D) none of above

MS Word, 3 Ctrl +S..... s faw & |
(A) Senarios (B) Size
(C) ~Save | (D) Spelling Check

In MS Word, Ctrl + Sis for .......
(A) Senarios (B) Size
(C) Save (D) Spelling Check
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Frafafag § 1 B9 W W 401 W ve wu-fasary oifye o ¥ ?
(A) intarray[10]; (B) carray array[10];
(C) int array; (DY array {10};

Which of the following correctly declares an array ?

(A) intarry[10]; (B) carray array[10];

(C) intarray; (D) array {10};

.............. ¥ e B gl E i

(A) Automatically move text to the next line when necessary

——

)
B) Appears at the bottom of the document
(C)

(D) Is the short horizontal line indicating the end of document

Allows you {o type over text

The word wrap feature is..................

(A) Automatically move text to the next line when necessary
(B) Appears at the bottom of the document

(C} Allows you to type over text

(D) Is the short horizontal line indicating the end of document

arfert 4 Ue............... Tl B TF Ve D 4/ TP WAy &1 wfatiitea o 3

(A) Column (B) row

(C) key (D) primary key

L in a table represents a relationship among a set of
values.

(A) Column (B) row

(C) key (D) primary key



I IR o i go seqeiew ¥ -
(A) Landscape (B) Potrate
(C) Long sides (D) Double long side

The default page orientation of word document is

(A) Landscape (B) Potrate

(C) Long sides (D) Double long side
v fagiwer v aiferat & Bl Aafia Bl

(A) column (B) key

(C) record (D) tuple

The term attribute refers to a of a table.
(A) column (B) key
(C) record (D) tuple

MS Word 20034 afe 31mg ot s sragen R s1ue Sxamaw waldta a
fiic ® 32 §, A 3w sifewre ‘W9 &9 & e giiREa e o § e
...... frpea g -

(A)  Embed Fonts (B) Embed True Type Fonts
(C) Save True Type Fonts (D) Save Fonts

If you will be displaying for printing your document on another
computer, you'll want to make sure and select the option
under the ‘Save’ tab in MS Word 2003

(A) Embed Fonts (B) Embed True Type Fonts
(C) Save True Type Fonis (D) Save Fonts
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PH M DCLBASE ?
(A) Rollback (B) Insert
(C) Create (D) Update

Which one is a DCL command
(A) Rollback (B) Insert
(C) Create (D) Update

frefafaa § 9 o= 9o+ Ware 9 | @E Awen wE g ?
(A) Edit (B) Ignore

(C) Ignore all (D) Change

Which of the following is not an option in the spelling dialog box ?

(A) Edit (B) Ignore

(C) Ignore all (D) Change

11 R, A ¥ TSI IR B T DD T BT DI SURART Bl Siea]
A g5 WhA E —

(A) Edit (B View

(C) Format (D) Tools

You can quickly change the appearance of your work by chosing

Auto Format from the ............ Menu
(A) Edit ' (B) View
(C} Format (D) Tools

e »
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(A) Edit (B) Format
(C) Tools (D) Data

To protect a worksheet, you an choose Protection and the Protest
Sheet fromthe ............... menu

- (A)  Edit (B) Format
(C) Tools (D) Data
21 D, w1 4 & uRe g7 ereense uRadH ware atew @ BiCa
gl
(A) Edit (B) _Insert
(C) Format (D) Tools

You can open the Highlight Changes dialog box by choosing Track
Changes from the ............. Menu.

(A) Edit (B) Insert
(C) Format (D) Tools

(A) Endkey (B)  Shift key
(C) Esckey (D) None of above

To copy cell contents using drag and drop, press the
(A) Endkey (B) Shift key
(C) Esckey (D) None of above
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afE 39 <9 ¥ 1, I MU SIS @1 s/ wrl) & w9 o eR
TR T |

(A) Enter (B) Ctrl + Enter
(C) TAB (D) Insert

If you press......, the cell accepts, your typing as its contents.

(A) Enter (B) Ctrl + Enter
(C) TAB (D) Insert
3Mie) A & gfaen

(A) Extendes a series of data

(B) Automatically adds a range of cell values
(C) Applies a boarder around selected cells
(D) None of the above |

The auto fill feature

(A) Extendes a series of data

(B) Automatically adds a range of cell values
(C) Applies a boarder around selected cells
(D) None of the above

A DIRTHES | TF e M B for HieE viidae (ge 9w o &
o) e ?

(A) F3 (B) F5
(C) F7 (D) F11
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What is the keyboard shortcut (buttons to be pressed) for creatiing
a chart from the selected cells?

(AY F3 (B) F5
(C) F7 (D) F11
39 IH YT 1 SUTIT B b § —

(A) format cells containing numbers
(B) create and edit formulas containing functions
(C) entered assumptions data

(D) copy arange of cells

You can use the formula platte to

(A) format cells containing numbers

(B) create and edit formulas containing functions
(C) entered assumptions data

(D) copy arange of cells

MY YeRIel D] Ferdferd A1 F=gsTel 01 WiE ¥ e o) way ¥ O 18
Hgeret | # ¥, T AN Bl UST B B AU ama fr ol B garear?

(A) F9 (B) F5
(C) F8 (D) F11

You can set Excel in Automatic or Manual calculation mode. If it is
in manual mode which key you press to update the formula
values?

(A) F9 (B) F5
(C) F8 (b) F11

8y
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IS SR THIH BT ThIhd B G, TS SR U BI ¥
(A) Server (B) Client
(C) Source (D) None of these

When integrating Word and Excel, Word is usually the
(A) Server (B) Client
(C) Source (D) None of these

MS Excel 2010%v® qaeie ¥ biral & e ¥ -
(A) 3048576 (B) 1048576
(C) 1000000 (D) None of these

In MS Excel 2010 the number of rows in a worksheet is
(A) 3048576 (B) 1048576
(C) 1000000 | (D) None of these

oY T WIoid W&l U 9d ® Hen fhe TR e &, A ae welfa ad &

(A) AR (B) #DIV/O
(C) #DIV@ (D) None of these

When a formatted number does not fit within a cell, it displays
(A) HHHEE (B) #DIV/0
(C) #DIV@ (D) None of these

16 & WU W W& 51 B & e 7w a1 Suae fea s ¥ ?
(A) B) ”
C) = - (D) +



What symbol is used to enter number as text?

(A) (=) .
(C) = (D) +
105 . ST P SUART BB RS AT AR H § Haierd fhan on ween ¥ -

(A) Sort command from Table menu
(B Sort command from Data menu
(C) Sort command from Tools menu

(D) None of these

Data can be arranged in ascending or descending order by using
(A) Sort command from Table menu
(B} Sort command from Data menu
(C) Sort command from Tools menu

(D) None of these

104 . FrafaRaa 4 @ o9 SemcT ey -
(A) Apostraphe (%) (B) Exclamation (1)
(C) Ampersand (&) (D) Hash (#)

Which of the following is concatenating operator?
(A) Apostraphe () (B) Exclamation (1)
(C) Ampersand (&) (D) Hash (#)
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| B TN TG B IR A1 Brevior SR wear ¥

(A) There is an error in the cell

(B) There is a comment associated with the cell
(C) The font color of the text in cell is red

(D) The cell can’t accept formula

Red triangle at the top right corner of a cell indicates
(A) There is an error in the cell

(B) There is a comment associated with the cell
(C) The font color of the text in cell is red

(D} The cell can’t accept formula

waﬁeﬁzﬁéﬁ?—waﬁﬁmﬁmmmﬁ%ﬁmmﬁm
3¢ forerss a1 ?

(A) CTRL Key (B) ALT Key
(C) Shift Key (D) Ctrl+Shift Key

To select multiple non-adjacent cells in a workseet you will click
them holding

(A) CTRL Key (B) ALT Key
(C) + Shift Key (D)  Ctrl+Shift Key

Wl o fasTias A & 3R 21 w3 @) § Rera ure & w1 wewe fhu
Y ZAISH YR TG F1E &1 V91 B Dy s an § P

(A) =B15&E23
(B) =proper(B15)&” “&text(E23,"mmmm dd, yyy”)

(C) B15&" “&E23

(D) =join(B15&E23)

37
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Cell E23 has a date value and you wish to place that date on an
invoice prefaced with the text located in B15. What is the
command to do that ?

(A) =B15&E23

(B) =proper(B15)&” “&text(E23,"mmmm dd, yyy")
(C) B15&"“&E23

(D) =join(B15&E23)

fewice wu 4 tad 99y ¥ fda eie ¥ ?
(A) 2 (B) 3
C) 4 D) 5

How many sheet are there in Excel Workbook by default?

(A) 2 (B) 3

(C) 4 (D) 5

W @ forg BF W1 MSeye BeTE 7 7

(A) POP (B) PUSH
(C) | Binary (D) Travesal

Which one is an output function for stack ?
(A) POP (BYy PUSH
(C) Binary (D) Travesal
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(A) Slide formatting
(B) Layout of audiece handout notes

(C) Handout content formatting for Microsoft word export
(D) All of above

What is defined by the handout master?

(A) Slide formatting

(B) Layout of audiece handout notes

(C} Handout content formatting for Microsoft word export
(D) All of above

//93 ¥ T1EH | ST TTZT FEAT ?
(A)  Summarization (B) elimination
(C) hiding (D) casting

Changing data type in run time means?

(A} Summarization (B) elimination
(C) hiding (D) casting

114 - e ANeN g ¥, oy wRgR @ W hted Wl @ fre wis & ik seR
DI BN AN B ¥ ?

(A) Modify the slide design

(B} Modify the notes master layout

(C) Modify the text within the body placeholder
(D) All of the above

g
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In notes master view, how do you modify the font size of text for all
hte4 notes of a presentation?

(A) Modify the slide design

(B) Modify the notes master layout

(C) Modify the text within the body placeholder
(D) All of the above

HETE CAT & ?
(A) Design of objects (B) creation of objects
(C) Instances of objects (D) not related with objects

Classes are source of ?
(A} Design of objecis (B) creation of objects

(C) Instances of objects (D) not related with objects

o< wggfir W ) TeTs @ forg RO W Nie e Ry Freferiaa A @
P AT ¥ AT B G & 7

(A) Slide sorter view (B) Notes pages view

(C) Slide view (D) OQutline view

Which of the following views is the best view to use when setting
transition effects for all slides in a presentation ?

(A) Slide sorter view (B) Notes pages view

(C) Slide view (D) OQutline view

freferRaa 3 | B W i e W SRS ¥ ?
(A) AND (B) NOR
(C) OR | (D) break
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Which of the following is not associated with Logic gate ?
(A) AND (B) NOR
(C) OR (D) break

Freafafaa # @ o1 gied g 7 oy wige @ e $ER Hie BT @
1L YET B § ?

(A) Slide with animation (B) Outline View
(C) Notes Page (D)  Audience Handout

Which of the following provides a means of printing out feature notes with

a miniature slide on a printed page ?

(A) Slide with animation (B) Outline View

(C) Notes Page (D) Audience Handout
gfera =R | A A gfaffta v E 2

(A) A (B) AZ

(C) 2A DY 1

In Boolean variable A.A represent ?
(A) A (B) A?
(C) 2A (D) 1

A ZREDIV 4, 17T ARTY Tvd Bl TS B & 1T o) | DR
9%cl AP & ?

(A) Click the outline tab and select handout master view

(B) Press the shift key and click the handout master view button

(C) On the view menu, click slide sorter, and click handouts.
(D) All of above

&/ -
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12 73

In normal view, how can you quickly change to handout master view?
(A) Click the outline tab and select handout master view

(B) Press the shift key and click the handout master view button
(C) On the view menu, click slide sorter, and click handouts.

(D) Al of above

71 4 @ B/ & vawgue (SQL Jemiis S @ geer @ R SugT @
I P

(A) CREATE (B) INSERT
(C) SELECT (D) UPDATE

Which of the following SQL command used to change data?
(A) CREATE (B) INSERT
(C) SELECT (D) UPDATE

freferfiaa 3 < s R R o womss W W i @ R fraan
SUANT B Hehal § 7

(A) Slide show menu (B) Rehearse timings button
(C) Slide transition button (D) All of the above

Which of the following can you use to add times to the slide in a
presentation?

(A) Slide show menu (B) Rehearse timings button
(C) Slide transition button (D) Al of the above

B TP vrerrerererrieranne. g7

(A) Derived Data type (B} function

(C) Header file (D) Built-in data type

&3
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Queue is a............... ?
(A) Derived Data type (B) function
(C) Header file (D) Buili-in data type

T TS T B SR itdde i et W ¥

(A) Clicking the shortcut button on the formatting tooibar
(B) Right clicking the current slide

(C) Clicking an icon on the current slide

(D) AandB

You can show the shortcut menu during the slide show by
(A) Clicking the shortcut button on the formatting toolbar
(B) Right clicking the current slide

(C) Clicking an icon on the current slide

(D) AandB

B TH........ €

(A) Instance (B) template
(C) datatype (D) operator
Class is a/an......... ?

(A) Instance (B) template
(C) datatype (D)} operator

s



126 WIS FE & 99 @ WeR U1 6 [WuIfad oA & faw, ey
(A) select the box and text, then make changes
(B) select the box, then make the changes
(C) highligt the text, them make the changes
(D) (A)and (B) both

to edit the text within the boxes of an organization chart, you
(A) select the box and text, then makchanges

(B) select the box, then make the changes

(C) highligt the text, them make the changes

(D) (A) and (B) both

127 . AR UHE ... ?
(A) Variable (B)Method
(C) Data (D) Design of data and methods
Pointerisa ........... ?
(A) Variable (B) Method
(C)Data (D)Design of data and methods
128 v <dur(Typedef) T......... ®?
(A) Keyword (B) constant
(C) variable (D) Array name
Typedefis a/an ............. ?
(A) Keyword (B) constant
(C) variable (D) Array name
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OOP fra w enaiRa & ?
(A) Program & Process (B) Function and Data
(C) File and Disk (D) Input and Output

OOP is based on?
(A} Program & Process (B) Function and Data
(C) File and Disk (D) Input and Output

AfRFTd WS a1 wgvl wgf o file v vy FefaReg 8 9 9 file
arE i BI IIIUTH B § ?

(A) File, Print, Preview (B) The print button
(C) File, print (b)y Ctrl+p

Which of the following bypasses the print dialog box when printing |
individual slides or an entire presentation?

(A) File, Print, Preview (B) The print button
(C) File, print (D) Cirl+p

........................ PRl wrETferd 9 9 99 Wzel 9 ged ¥ &R gwrae
TSI B § 3R S WM §Ed X g &

(A) Offline Browsers (B) Web Downloading Ultilities
(C) Web Servers (D) None of these

Which of the following website is used to search other website by
typing a keyword?

(A) Offline Browsers (B) Web Downloading Utilities
(C) Web Servers (D) None of these
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Fr=faRaa § < fovw dadTEe &1 SUan faedl Has ) Tu e 3

JgAIST Bl WioM & o b s ® ?
(A) Search Engine (B) Routers
(C) Social Networks (D) None of these

Which of the following website is used to search other website by
typing a keyword?

(A) Search Engine (B Routers

(C) Social Networks (D) None of these
Frefafiaa ¥ 9 o9 9y Jeurge v g ?

(A)  wwi#.c4learn.com (B) cdlearn@.com
(C) www.cdlearn (D)  www.cdlearn.com

Which of the following is valid Website Address
(A)  ww#.cdlearn.com (B) cdlearn@.com

(C) www.cdlearn (D) www.cdlearn.com

FrfaRaa 9 9 751 http://www.cdlearn.com & url 3 WieTsTe @l STal
B

(A) cdlearn (B)  www
(C) http (D) com

Which of the following is called as protocol in the URL of
http://mwww.cdlearn.com

(A) cdlearn (B)  www
(C) htip (D) com
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ST Y SUANTHG! BIS daRITSE Wiekd ¥ @ 9% % P, el ST B
(A) Dead End (B) Backend Page
(C) Home Page (D) None of these

Whenever user opens any website then main page is called

(A) DeadEnd (B) Backend Page
(C) Home Page (D) None of these
a0 Bl oA s S fmw et T YA HHT BT |
(A) Server (B) HTML

(C) Browser (D) XML

To design webpages we need to use.............

(A) Server (B) HTML
(C) Browser (D) XML
URL &1 31 .............. 3l

(A} Term used to describe website
(B) Address of the resource on the web
(C) Term used to get online program

(D} None of these

URL means..................

(A) Term used to describe website

(B) Address of the resource on the web
(C) Term used to get online program

(D) None of these
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gD HAGET BF ASTD Bl.vovareranans e I § |
'(A) Intranet (B) Internet
(C) ARPA net (D) Social Network

Network connecting several networks is calles as.............

(A) Intranet (B) Internet

(C) ARPA net (D) Social Network
EEAT Bl TP R ..o g1

(A) Virtual Space (B) Data Space

(C) Cyber Space (D) Information Space

Another name of internet is.................
(A) Virtual Space (B) Data Space
(C) Cyber Space (D) Information Space

frafeRaa # & S W dasaTsT SITuw! R gEE! o1 e 9 |

(A}  www.google.com (B) www.cdlearn.com

(C) www.justdial.com (D) None of these
Which of the following website will give you details of Local Shops.

(A)  www.google.com (B) www.c4learn.com

(C) www justdial.com (D) None of these

49
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Applets grnfi ... T A fored T1v ¥

(A) java
(C) BothA&B

Applets are written in ............

(A) java
(C) BothA&B

HTML.............. AAEEI
(A) URL

(C) Browsers

HTML is derived from............

(A) URL

(C) Browsers

(A) Europe Counties
(C) US Government

Internet is owned by...............

(A) Europe Counties
(C) US Government

(B) HTML
(D) None of these

programming language.
(B) HTML
(D} None of these

(B) TCP/P
(D) SGML

(B) TCP/IP
(D) SGML

(B) Asian Countries
(D) None of these

(B) Asian Countries
(D) None of these

Y Sl P 49 UST B UER P E S 8 ST E |

(A) Web Browser

(C) Service Provider

(B) Web Server
(D) None of these

50
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Computer which stores the different web pages is calles as.......
(A) Web Browser (B) Web Server

(C) Service Provider (D) None of these

HRYEY Pl FEHEH ... P A A AT O Wl & —
(A) Phone-line modem (B) DSL

(C) cable modem (D) all of these

Computer can be linked to internet through the
(A} Phone-line modem (B) DSL
(C} cable modem (D) all of these

T R 51 U@ Sl U1 Bl U 3T A1 4 37Ja1S Heell & SU el
IR § —

(A) Packet-switching domin system
(B) domin name system
(C) domain

(D) domain numbering system

A system, which transiates an IP address into an easier name is
called

(A) Packet-switching domin system
(BY domin name system
(C) domain

(D} domain numbering system
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ELE8 Gl G K N ST
(A) Ethernet (B) ARCnet
(Cy TCP/IP (D) MAC

internet protocol includes....................
(A) Ethernet (B) ARCnet
(C) TCP/IP (DY MAC

ugé@ﬁzﬁf%m%wsmmﬂawﬂ?wﬁaﬁmmmw%%w
m%mﬂa%,m%ﬂmmaﬁmﬁmmwm
IRy ?

(A) PING (B) ICS
(C) Telnet (D) NNTP

To check to see if the Web server you are trying to reach is
available or is down, which command line utility should you use ?

(A) PING (B) ICS
(C) Telnet (D) NNTP

T3 YIS Head SevAe B HEH WA .oovn..) TS P

(A) Tunnel (B) BRI

(C)  Connection (D) SSH Session

Virtual Private Network creates a..................... through the Internet?
(A) Tunnel (B) BRI

(C) Connection (D) SSH Session
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T TFRAET .0rQ aeernenee YR &) JqATSC B Helid B & |
(A) Commercial (B) Government

(C) Non-Profit organization (D) None of these

The domain extension .org refer to a type of website.......

(A) Commercial (B) Government

(C) Non-Profit organization (D) None of these
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